#4

Mgmt 380

Assignment #4

Defining a linear programming model, 

solving it graphically and with STORM,

and presenting the analysis

DUE:  February 26

15 points

You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.c. on handout #1).

If you choose the “team of two” option on other assignments, you cannot work with the same person more than twice during the semester.

A.  A North Carolina grower has a 50-acre farm on which to plan wheat and corn.  The grower has available 300 hours of labor per week and 800 tons of fertilizer, and has contracted for shipping space for a maximum of 26 acres worth of wheat and 37 acres worth of corn.  An acre of wheat requires 10 hours of labor and 8 tons of fertilizer, whereas an acre of corn requires 3 hours of labor and 20 tons of fertilizer.  The profit from an acre of wheat is $400, and the profit from an acre of corn is $300.  The farmer wants to know the number of acres of wheat and corn to plant in order to maximize profit.

B.  The farmer suspects that the amount of fertilizer required for each acre of wheat will become 20 tons (instead of 8 tons).  What would be the effect on the solution?

Your assignment must include the following for both parts A and B:

1)  the linear programming model 

2)  the graphical solution 

3)  the STORM printouts 

4)  the executive summary – explain all the results, including the meaning of the shadow price, slack, and surplus values

5)  all other requirements for assignments (stated on Handout #1)

